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4.1-4.2: Mairix Addition, Scaiar Multiplication and Matrix Multiplication

Example 1. Let

79 x| 79 0
A= |! !
: [C; -1 f+1J amd B=15 1 1

Find z and y so that A = B. Il'\\sgules 6 Qabm'{‘uo/\ 7= 7 q- &\ Xr= O 7 X=0
o=0,-l=-l,xelzll =0

Example 2. ¥Find the desired guansities. E;eL\ Q'VQS 6 %m“ﬂ\ns below .
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Remark 1. Two matrices can be added or subtracted only when they have
the same dimensions. In the above example, both matrices are 3 X 2 and
therefore the sum and difference is defined.

Fxercise 1. Let
A= ) [
L i L

fvaluate the following: 4A, xB. and A+3C.
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Example 2. Find the transpose of matrix A in EXQTCHG k.
z -1 O £
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Example 4. Suppose we download 3 movies at $10 each and 5 albums at 88
each. We wili find the tota!l amount of money spent using matrix maitiplica-
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Example &. ¥ind the following products. - [7 07 ~ /X[‘ .
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Remark 2. The product of two matrices is only cefined if they number of
rows in the left matrix is equal to the number of columns in the right matrix.
In this case. if A is a k& x [-matrix and B is & | X n-matrix then the predact
AB is a k X n-matrix.
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Exercise 2. Let A = l: 0 2| and B = {; _O 1]. Find AB and BA to show
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that matrix multiplication does not commute.

AR=[ 4]

B[ 3] Uedy ABED .
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